D9V -N

0<3x-9x* :pm .1

-¥ NI2N2 Y21 NN

1
§<x (1)
1
-§<x<0(2}
<l 3
X 3 (3)
1
<x<=
0<x 3 (4)

ab+tac+ad<(b+c+d’ pm 2
b+c+d=a
-¥ 199112 Y31 INOD

a<l1l (1)
I<a (2)
-l1<a<l1l (3

a<-] wl<a ()

X<y :pm .3

NN N2 MNIN MNIYOVIN PN

x<y+1 1)
x<2y (2)
x<y?z (3)

NI2N2 NN YO mawnn by (4)

Scanned with CamScanner



3 3x -

sl
2 ey O 4

0<2x+y

?
NT3M "2 Mxan nyvnn 1N

y<x (1)
0<x
y<0 (3
N0M MDY Do mawnnby  (4)

i
c<b-c<a<b w5
1NN5N2 19) ONIND D
0<a (1
0<b (2
0<c 3
[9na NN YOV mawnny @
2<y<3, 5<x-y: M K.
yp7ona NN NN NIYONN TN
x<25 ()
x>25 @)
x=250
an (4)

nion3 A 2N nyNn NNN N2

5<4x+dY i

n PYOND PN

janona ) MR
5<x (1)
5>x (2)
5 =ik (3)
prn TN N7 R &

‘J"Jl-l j‘l'l.w

Scanned with CamScanner



(@' b)2+6=(a-b+2)2 .y .8
2<b

9212 NN MININ MIYONIN ION

I<a (1)

1
'2-<a (2)

1
-Z<a<0 (3)

1
0<( e
a<s @

4Xx+2<0 :m 9

2
XS 5V 1 nvny Yy NN O'NIAN DMvYPAN N

(1)

(2)

Whal—=0]—

(3)

~
B
S

[ 7 DNNN N DNa

Scanned with CamScanner



Scanned with CamScanner



